1074 2384 f % % 4 32 50d B4 RHL36360 (a5
SO R
= B PR3 312
EpER 2 | BB

MILR (—)" VTR AR
O)H SR xt%g&»ﬂ-ﬁ&;ﬁ%\{{%{; G A REBIER Y ARE b o AR (T X EEE N
(_,Hx,pp nf;%ﬁﬂ 2,250 ¢ &g,;m ARk R AR FIFE

- ORI é\ "#t (Nuclear Binding Energy) ? (54)
O34 B3 8 45235 B 48-56 hT R i o (12 4)
(_)Fa_ug]—r*.g..lim% gbbta}g,_+4ff%frﬁ§;ty ¥ efd (2w Ak B o (54)
()3 2 W HE T 4h-235 H4B-56 (T 3 i A i GO Bl p FH R A AREE Y o (3 4)
S ¥ Bl Sl
kg ¢ =2.997925x10° 2 = /)
T3 FE m.=9.10908x107" 2 7
3 FE M,=1.67252x107" 2 7
¢ 3 FE M, = 1.67482x1077 2 7
Ja+ % & H = (atomic mass unit) : u= 1.66043x107" 2 7
lu=931.478Mev
HF £ =1.007825u
THH £ =2.014102u
>oFe [ # = 55.934932u
o U T # =235.043933u

=~} B %ok (Compton effect )~ € & & (Photoelectric Effect ) £2 = $3+-3 # (pair
productlon) ? (10 &)
kil BT (1)1 (3) % 38 A Bl 4o $H > w0 i = 22l « (3 4)

B TR TR E R LA E A T TE om K32 o & (HALH DR
Lt k) O WA F ek R oo SIS BT LR SR T 1S R
b2 B a5t o (12 4)

T TTIm 7 irm T T T T 177
120 |- s
|
100 — j
i - /’
* 80
R
(U 7/
3 40 / (2)
20 i— if_
- ’)’}_r’
e IR R R LN W R R 1 D N IR R R
0.01 0.05 0.1 0.5 1

1 5 + it £ (MeV)



5L 36460

107 27324 B 8 F ¥ 332 53 373
A L R i1
i B Rh3F I
So- BREFREN - MR URS MM R Lo i S
BRI RRBERLED e (X P P) BT
E
A
V(x)=c| V(x) =0 |V(x) =0
>
REE TRH BRSO
R - MR URH A E £, A el pa b B 5
n2h2
E, = o (12 4)
8mL
©¢nJZmn( joﬂ8@>
n At B hEE P o m Ak FE

O THlE s B TR XA e gt ? (154)

CERRE LIRS

/

17

TA?(5A)

O’Fi".\l*

I8 K=
A



